

Asian Journal of Probability and Statistics

**15(2): 18-40, 2021; Article no.AJPAS.75377** *ISSN: 2582-0230* 

# The Equilibrium Renewal Burr XII Distribution: Properties and Applications

Abdulzeid Yen Anafo<sup>1\*</sup>, Lewis Brew<sup>1</sup> and Suleman Nasiru<sup>2</sup>

<sup>1</sup>Department of Mathematical Sciences, University of Mines and Technology, Ghana. <sup>2</sup>Department of Statistics, C.K. Tedam University of Technology and Applied Sciences, Ghana.

Authors' contributions

This work was carried out in collaboration among all authors. All authors read and approved the final manuscript.

### Article Information

DOI: 10.9734/AJPAS/2021/v15i230349 <u>Editor(s)</u>: (1) Dr. Manuel Alberto M. Ferreira, Lisbon University, Portugal. (1) Intekhab Alam, Aligarh Muslim University, India. (2) Haitham Fawzy, Cairo University, Egypt. Complete Peer review History: https://www.sdiarticle4.com/review-history/75377

**Original Research Article** 

# Abstract

In this paper, we propose a three-parameter probability distribution called equilibrium renewal Burr XII distribution using the equilibrium renewal process. The statistical properties of the distribution such as moment, mean deviation, order statistics, moment generating function, Beforroni and Lorenz curve, survival function, reversed hazard rate and hazard function were derived. The method of maximum likelihood is used for estimating the distribution's parameters and a simulation study is conducted to assess the performance of the parameters. We provide two applications in field of health to demonstrate the importance of the proposed distribution.

Keywords: Equilibrium renewal process; Burr XII distribution; maximum Likelihood estimation; simulation; remission; hazard function and cancer data.

2010 Mathematics Subject Classification: 53C25; 83C05; 57N16.

Received: 02 August 2021 Accepted: 06 October 2021 Published: 16 October 2021

<sup>\*</sup>Corresponding author: E-mail: ayanafo@st.umat.edu.gh;

### 1 Introduction

The Burr XII distribution is one of the most important distribution amongst the Burr system of distributions proposed by Irving W. Burr in 1942. Due to its versatility and flexibility, applications of the Burr XII in modelling real world data can be found in many fields such as health, insurance, engineering and finance. Recently, numerous methods have been suggested in developing continuous statistical distributions. Some of these methods which includes the transformation method [1], method of adding additional parameter to existing distribution [2], beta generated method [3], tranformed-transformer method [4] and composite methods have either been used to generalise, extend or modify the Burr XII distribution in order to increase its flexibility for modelling data sets in different fields [5]. For instance, the beta Burr XII distribution introduced by [6], the McDonald Burr XII distribution introduced by [7], the Poisson Burr XII distribution established by [8], the Marshall-Olkin extended Burr XII distribution developed by [9], the Weibull Burr XII distribution introduced by [10] and the transmuted Burr XII distribution developed by [10] are some univariate extensions of the Burr XII distribution.

An alternative approach in proposing distributions is through the the concept of reliability. [11] used the hazard rate function in defining density functions. The density functions introduced by [11] are defined by,

$$g(y) = h(y) \cdot e^{-\int_0^y h(x)dx} \quad y \ge 0$$

where  $h(y) \ge 0$  is the hazard rate function. In addition, [12] in the context of durability tool-testing proposed the Pseudo-Weibull distribution by considering the definition,

$$g(y) = \frac{y}{E(y)}f(y),$$

where  $E(y) = \int_0^\infty y f(y) dy$  and f(y) is the probability density function (PDF). In addition to distributions proposed in the concept of reliability, a less exploited alternative in proposing probability density functions through the concept of renewal equilibrium process given by,

$$E_p(y) = \frac{1 - F(y)}{\mu},$$
 (1.1)

where F(y) is the underlining Cumulative Distribution Function (CDF) and  $\mu$  is the mean failure rate of the underling cumulative distribution [13]. [14] modified several density functions such as the Weibull, Gamma, generalised exponential and power distribution by employing the equilibrium renewal process. The method of equilibrium renewal process is easily applicable and often gives explicit forms for the modified PDFs. There are, however, cases where the method does not give explicit form of CDFs which is highlighted by [14].

Although the Burr XII distribution exhibits numerous advantages, one most important limitation of the Burr XII distribution is that it lacks flexibility on the hazard function. Based on the limitation of the Burr XII distribution, we propose a new three-parameter modification Burr XII distribution using the equillibrium renewal process and call it the equilibrium renewal Burr XII distribution (ER-BurrXII). As shown in this study, this new modication gives various kinds of shapes of the PDF and hazard function, particularly increasing, decreasing, upside down bathtubs, unimodal and constant hazard function shapes, which are not always reached for the Burr XII distribution.

The article is organised as follows: Section 2 introduces the PDF and the corresponding CDF of the ER-BurrXII distribution. Section 3 presents several mathematical properties. The maximum likelihood estimation of the ER-BurrXII parameters is addressed in Section 4. In Sections 5, simulation results to assess the performance of maximum likelihood estimators of the proposed distribution are discussed. We provide two applications to real data sets to illustrate the importance of the new model in Section 6. Finally, in Section 7, the conclusions of the study is presented.

## 2 Equilibrium Renewal Burr XII Distribution

Let the random variable Y follow the equilibrium renewal Burr XII (ER-BurrXII) distribution with positive parameters a > 0, c > 0 and k > 0. Let  $y \in \mathbb{R}^+$ , supposed the CDF and mean of the Burr XII distribution are respectively given by,

$$G(y) = 1 - \left(1 + \left(\frac{y}{a}\right)^{c}\right)^{-k},$$
 (2.1)

and

$$\mu = kaB\left(\frac{1}{c} + 1, k - \frac{1}{c}\right),\tag{2.2}$$

where a, c, k > 0 [15] and  $B(\alpha, \beta)$  is the beta function defined by

$$B(\alpha,\beta) = \int_0^t t^{\alpha-1} (1-t)^{\beta-1} dt$$

The PDF of the random variable Y is obtained by substituting equation (2.1) and (2.2) into equation (1.1). Hence, the PDF of the ER-BurrXII distribution is given by

$$g(y) = \frac{\left(1 + \left(\frac{y}{a}\right)^{c}\right)^{-k}}{kaB\left(\frac{1}{c} + 1, k - \frac{1}{c}\right)},$$
(2.3)

where c > 0 and k > 0 are the shape parameters and a > 0 is a scale parameter. The density plots of the ER-BurrXII distribution for varied parameter values are displayed in Fig. 1. It is observed that the PDF of the ER-BurrXII distribution can be right skewed or constant depending on the shape parameter c and k. The density plots also exhibits a reversed "J" and "S" shapes as displayed in Fig. 1.



Fig. 1. PDF plots of the ER-BurrXII distribution

The CDF of the ER-BurrXII is obtained by integrating equation (2.3) with respect to y. Hence, the CDF is given by

$$G(y) = \frac{y_2 F_1\left(\frac{1}{c}, k, 1 + \frac{1}{c}; -\left(\frac{y}{a}\right)^c\right)}{kaB\left(\frac{1}{c} + 1, k - \frac{1}{c}\right)},$$
(2.4)

where a, c, k > 0 and  ${}_{2}F_{1}(a, b, c; z)$  is the Gauss hypergeometric function defined by,

$${}_{2}F_{1}(a,b,c;z) = \frac{\Gamma(c)}{\Gamma(b)\Gamma(c-b)} \int_{0}^{1} \frac{t^{b-1}(1-t)^{c-b-1}}{(1-tz)^{a}} dt.$$

The survival function, hazard function and reversed hazard rate (RHR) of the ER-BurrXII distribution are given by Equations (2.5), (2.6) and (2.7) respectively;

$$S(y) = 1 - \frac{y_2 F_1\left(\frac{1}{c}, k, 1 + \frac{1}{c}; -\left(\frac{y}{a}\right)^c\right)}{kaB\left(\frac{1}{c} + 1, k - \frac{1}{c}\right)}, y > 0,$$
(2.5)

$$h(y) = \frac{\left(1 + \left(\frac{y}{a}\right)^{c}\right)^{-\kappa}}{kaB\left[\frac{1}{c} + 1, k - \frac{1}{c}\right] - y_2 F_1\left(\frac{1}{c}, k, 1 + \frac{1}{c}; -\left(\frac{y}{a}\right)^{c}\right)}, y > 0,$$
(2.6)

$$RHR(y) = \frac{\left(1 + \left(\frac{y}{a}\right)^{c}\right)^{-\kappa}}{y_2 F_1\left(\frac{1}{c}, k, 1 + \frac{1}{c}; - \left(\frac{y}{a}\right)^{c}\right)}.$$
(2.7)

Fig. 2 displays the hazard function plots of the ER-BurrXII distribution for different parameter values. It can be observed that the hazard function of the ER-BurrXII exhibits a decreasing, increasing and upside down bathtub shapes.



Fig. 2. The hazard functions plots of the ER-BurrXII distribution

# **3** Statistical Properties

In this section we present statistical properties of the ER-BurrXII distribution such as the quantile function, moments, moment generating function, incomplete moment, entropy, order statistic, mean deviations and Beforroni and Lorenze curve.

#### 3.1 Quantile function

The quantile function is the inverse of the distribution function. Through the quantile function, measures such as the mean, quartiles, skewness and kurtosis can be derived.

The quantile function of the ER-BurrXII distribution is obtained by letting

$$p = \frac{y_2 F_1\left(\frac{1}{c}, k, 1 + \frac{1}{c}; -\left(\frac{y}{a}\right)^c\right)}{kaB\left(\frac{1}{c} + 1, k - \frac{1}{c}\right)},$$

and solving for y, where  $p \in (0, 1)$ . The quantile function of the ER-BurrXII distribution does not have a closed form. Hence, numerical techniques will be used to solve for the quantile function.

Table 1 displays the quantile values of the ER-BurrXII distribution for some values  $p \in (0, 1)$  and choice parameter a, c and k. From Table 1 we observe that as p increases towards one for various parameter values, the quantile also increases. The lower quartile [Q(0.25)], median [Q(0.5)] and upper quartile [Q(0.75)] also increases as parameter values increases. In general, we observe from Table 1 that as parameter values increase the quantile values generally increases in value.

 Table 1. Some values of the quantile of the ER-BurrXII-Standard Uniform distribution for some values

Q(u)	a = 10, c = 2.4, k = 50	a = 5, c = 6, k = 40.9	a = 7.8, c = 5.1, k = 50.9
0.1	0.1865	0.2505	0.3326
0.25	0.4654	0.6262	0.8313
0.35	0.6433	0.8766	1.1634
0.45	0.8168	1.1264	1.4938
0.5	0.9005	1.2507	1.6576
0.65	1.1372	1.6173	2.1369
0.75	1.2817	1.8502	2.4381
0.85	1.4151	2.0657	2.7153
0.9	1.4776	2.1646	2.9624

### 3.2 Moments

In this section, the  $r^{th}$  moment of the ER-BurrXII distribution is derived. The  $r^{th}$  can be used in computing various properties of a data such as the mean, standard deviation, skewness and kurtosis.

**Proposition 3.1.** The r<sup>th</sup> moment of the ER-BurrXII distributed random variable Y is given as

$$\mu'_{r} = \frac{a^{r+1}\Gamma(\frac{r+1}{c})\Gamma(k-\frac{r-1}{c})}{ckaB\left(\frac{1}{c}+1, k-\frac{1}{c}\right)\Gamma(k)}, \quad r = 1, 2, \dots,$$

where c > k, c > r - 1 and  $\Gamma(\beta) = \int_{0}^{\infty} t^{\beta - 1} e^{-t} dt$  is the gamma function.

*Proof.* By definition, the  $r^{th}$  non-central moment is given by

$$\begin{aligned} \mu_r' &= \int_0^\infty y^r g(y) dy \\ &= \frac{1}{kaB\left(\frac{1}{c} + 1, k - \frac{1}{c}\right)} \int_0^\infty y^r \left(1 + \left(\frac{y}{a}\right)^c\right)^{-k} dy. \end{aligned}$$

Let  $u = (1 + (\frac{y}{a})^c)^{-1}$ . As  $y \to 0, u \to 1$  and as  $y \to \infty, u \to 0$ . Also,  $y = a \left(\frac{1-u}{u}\right)^{1/b}$  and  $dy = -\frac{a^c}{cy^{c-1}u^2}du$ . Thus,

$$\mu_{r}^{'} = \frac{1}{kaB\left(\frac{1}{c}+1, k-\frac{1}{c}\right)} \frac{a^{r+1}}{c} \int_{0}^{c} (1-u)^{\frac{r+1}{c}-1} u^{k-\frac{r-1}{c}-1} du$$
$$= \frac{1}{kaB\left(\frac{1}{c}+1, k-\frac{1}{c}\right)} \frac{a^{r+1}}{c} B\left(\frac{r+1}{c}, k-\frac{r-1}{c}\right),$$

where  $B(u,v) = \int_0^t t^{u-1}(1-t)^{v-1} dt$  is the beta function. Employing the beta function defined by the gamma function, we define

$$B(u,v) = \int_0^t t^{u-1} (1-t)^{v-1} dt = \frac{\Gamma(u)\Gamma(v)}{\Gamma(u+v)},$$

where u > 0 and v > 0 [16]. Hence, the  $r^{th}$  non-central moment of the ER-BurrXII is given by

$$\mu_r^{'} = \frac{a^{r+1}\Gamma(\frac{r+1}{c})\Gamma(k-\frac{r-1}{c})}{ckaB\left(\frac{1}{c}+1,k-\frac{1}{c}\right)\Gamma(k)}.$$

This completes the proof.

The  $r^{th}$  raw moment of the ER-BurrXII distribution are used to obtain the mean, median, variance, skewness and kurtosis for various parameter values of the ER-BurrXII distribution in Table 2.

Table 2 indicates that, for fixed a and increasing values of c, both the variance and mean are increasing functions of k. The skewness and kurtosis exhibits an intermittent behaviour as the parameter values increases for a fixed parameter a. Table 2 shows that the ER-BurrXII distribution is positively skewed. In addition, the proposed distribution exhibits both high and low kurtosis values.

### 3.3 Incomplete moments

**Proposition 3.2.** The  $r^{th}$  incomplete moment of the ER-BurrXII distribution is given by,

$$m_r = \frac{B^* \left( \left[1 + \left(\frac{y}{a}\right)^c\right]^{-1}; \frac{r+1}{c}, k - \frac{r-1}{c}\right)}{ckB\left(\frac{1}{c} + 1, k - \frac{1}{c}\right)}, \quad r = 1, 2...,$$
(3.1)

where c > k, c > r - 1 and  $B^*(y; u, v)$  is the upper incomplete beta function and B(u, v) is the beta function.

*Proof.* Using the definition of the  $r^{th}$  incomplete moment of a random variable,

$$m_r(y) = \int_0^y x^r g(x) dx.$$
 (3.2)

Substituting the PDF of the ER-BurrXII, into the definition of the incomplete moments of the ER-BurrXII gives us,

$$m_r(y) = \frac{1}{kaB\left(\frac{1}{c} + 1, k - \frac{1}{c}\right)} \int_0^y x^r \left(1 + \left(\frac{x}{a}\right)^c\right)^{-k} dx.$$
(3.3)

Parameters			Moments							
a	c $k$ Mea		Mean	Variance	Skewness	Kurtosis				
5	10	0.5	0.3254	0.3254	0.5000	100.0000				
		1.2	0.6087	0.4239	0.3424	0.3050				
		1.5	0.7321	0.4881	0.3750	0.3150				
		2.5	1.1331	0.6973	0.4911	0.3750				
		3.0	1.3281	0.7974	0.5472	0.4066				
5	12	0.5	0.3047	0.2686	0.3047	0.5000				
		1.2	0.6036	0.4130	0.3246	0.2886				
		1.5	0.7314	0.4836	0.3657	0.3000				
		2.5	1.1473	0.7111	0.5019	0.3824				
		3.0	1.3504	0.8203	0.5670	0.4226				
5	20	0.5	0.2753	0.2067	0.1792	0.1715				
		1.2	0.5978	0.4000	0.3032	0.2470				
		1.5	0.7343	0.4822	0.3584	0.2859				
		2.5	0.9592	0.6166	0.4482	0.3493				
		3.0	1.4019	0.8775	0.6206	0.4702				

Table 2. Mean, variance, skewness and kurtosis of the ER-BurrXII distribution for a = 5 and various parameter values of c and k

Let  $u = \left(1 + \left(\frac{x}{a}\right)^c\right)^{-1}$ . As  $x \to y, u \to \left(1 + \left(\frac{y}{a}\right)^c\right)^{-1}$  and as  $y \to \infty, u \to 1$ . Also,  $y = a \left(\frac{1-u}{u}\right)^{1/b}$ and  $dy = -\frac{a^c}{cy^{c-1}u^2}du$ . Thus,

$$m_{r}(y) = \frac{1}{kaB\left(\frac{1}{c}+1, k-\frac{1}{c}\right)} \frac{a^{r+1}}{c} \int_{\left(1+\left(\frac{y}{a}\right)^{c}\right)^{-1}}^{1} (1-u)^{\frac{r+1}{c}-1} u^{k-\frac{r-1}{c}-1} du$$
$$= \frac{1}{kaB\left(\frac{1}{c}+1, k-\frac{1}{c}\right)} \frac{a^{r+1}}{c} B^{*} \left( \left[1+\left(\frac{y}{a}\right)^{c}\right]^{-1}; \frac{r+1}{c}, k-\frac{r-1}{c} \right)$$

where  $B^*(a, b; y)$  is defined by

$$B^*(u,v;y) = \int_y^1 t^{u-1} (1-t)^{v-1} dt$$

We may call  $B^*(u, v; y)$  defined by ([17] as cited by [18]) as the upper incomplete beta function.  $\Box$ 

### 3.4 Moment generating function

The moment generating function (MGF) if it exist is a special function used to find the moments and functions of moments such as mean and variance of a random variable in a simpler way and also help in identifying which PDF a random variable follows.

**Proposition 3.3.** Given a random number Y having the ER-BurrXII distribution, then the MGF for the ER-BurrXII distribution is given by

$$M_Y(t) = \sum_{r=0}^{\infty} \frac{t^r a^{r+1} \Gamma(\frac{r+1}{c}) \Gamma(k - \frac{r-1}{c})}{r! ckaB\left(\frac{1}{c} + 1, k - \frac{1}{c}\right) \Gamma(k)}, r = 1, 2, \dots,$$
(3.4)

 $\Gamma(\beta) = \int\limits_{0}^{\infty} t^{\beta-1} e^{-t} dt$  is the gamma function.

*Proof.* Suppose Y is a random variable having the ER-BurrXII PDF in equation (2.3). We obtain the moment generating function by using the following formula

$$M(t) = E\left[e^{tY}\right] = \int_0^\infty e^{ty} g(y) dy.$$
(3.5)

Applying Taylors series expansion and substituting the  $r^{th}$  moment in Proposition (3.2) yields

$$M_Y(t) = \sum_{r=0}^{\infty} \frac{t^r a^{r+1} \Gamma(\frac{r+1}{c}) \Gamma(k - \frac{r-1}{c})}{r! ckaB \left(\frac{1}{c} + 1, k - \frac{1}{c}\right) \Gamma(k)}, r = 1, 2, \dots,$$

### 3.5 Mean deviations

**Proposition 3.4.** The mean deviation of a random variable Y having the ER-BurrXII from its mean is (1 + 1) = 1

$$D(y) = 2\mu G(\mu) - 2ckaB^*\left(k^*; \frac{r+1}{c}, k - \frac{r-1}{c}\right) \left[B\left(\frac{1}{c} + 1, k - \frac{1}{c}\right)\right]^{-1},$$
(3.6)

where  $k^* = (1 + (\frac{\mu}{a})^c)^{-1}$  and  $\mu = \mu'_1$  is the mean of Y.

*Proof.* The mean deviation about the mean is defined as

$$D(y) = \int_0^\infty |y - \mu| g(y) dy.$$
 (3.7)

Then the mean deviation measure of the ER-BurrXII can be calculated using the relationship,

$$D_1(y) = \int_0^{\mu} (\mu - y)g(y)dy + \int_{\mu}^{\infty} (y - \mu)g(y)dy$$
  
=  $2\mu G(\mu) - 2\int_0^{\mu} yg(y)dy.$ 

Let  $Y \sim \text{ER-BurrXII}(a, c, k)$ . Then,

$$D(y) = 2\mu G(\mu) - 2ckaB^*\left(k^*; \frac{r+1}{c}, k - \frac{r-1}{c}\right) \left[B\left(\frac{1}{c} + 1, k - \frac{1}{c}\right)\right]^{-1}$$

where  $\int_0^{\mu} y dy$  is simplified using the first incomplete moment.

**Proposition 3.5.** The mean deviation of a random variable Y having the ER-BurrXII from its median is

$$D_2(y) = \mu - 2ckaB^*\left(k^{**}; \frac{r+1}{c}, k - \frac{r-1}{c}\right) \left[B\left(\frac{1}{c} + 1, k - \frac{1}{c}\right)\right]^{-1},$$

where  $k^{**} = \left(1 + \left(\frac{M}{a}\right)^c\right)^{-1}$  and M is the median of Y.

*Proof.* The mean deviation about the mean is defined as

$$D_2(y) = \int_0^\infty |y - M| g(y) dy.$$

Then the mean deviation measure of the ER-BurrXII can be calculated using the relationship,

$$D_{2}(y) = \int_{0}^{M} (M-y)g(y)dy + \int_{M}^{\infty} (y-M)g(y)dy$$
  
=  $\mu - 2\int_{0}^{M} yg(y)dy.$ 

Let  $Y \sim \text{ER-BurrXII}(a, c, k)$ . Then,

$$D_2(y) = \mu - 2ckaB\left(k^{**}; \frac{r+1}{c}, k - \frac{r-1}{c}\right) \left[B\left(\frac{1}{c} + 1, k - \frac{1}{c}\right)\right]^{-1},$$

where  $\int_0^M y dy$  is simplified using the first incomplete moment.

### **3.6** Beforroni and Lorenz curve

Lorenz and Bonferroni curves are income inequality measures that are widely useful and applicable to some other areas including reliability, demography, medicine and insurance. In this section, we have derived the Lorenz and Bonferroni curves for the ER-BurrXII distribution.

Proposition 3.6. The Lorenz curve for a random variable having the ER-Burr XII distribution is,

$$L_F(y) = \frac{B^*\left((1 + (\frac{y}{a})^c)^{-1}; \frac{r+1}{c}, k - \frac{r-1}{c}\right)}{ck\mu B\left(\frac{1}{c} + 1, k - \frac{1}{c}\right)},\tag{3.8}$$

where B(u, v; y) is the upper incomplete beta function and B(u, v) is the beta function.

*Proof.* The Lorenz curve of the distribution of a random variable is defined as

$$L_G(y) = \frac{1}{\mu} \int_0^y xg(x)dx.$$

From the definition, the Lorenz curve is simply the product of the first incomplete moment and the reciprocal of the mean of the random variable. Hence,

$$L_G(y) = \frac{B^*\left(\left(1 + \left(\frac{y}{a}\right)^c\right)^{-1}; \frac{r+1}{c}, k - \frac{r-1}{c}\right)}{ck\mu B\left(\frac{1}{c} + 1, k - \frac{1}{c}\right)}.$$

The proof is therefore complete.

**Proposition 3.7.** The Bonferroni curve of a random variable having the ER-BurrXII distribution is

$$B_G(y) = \frac{B^*\left((1 + (\frac{y}{a})^c)^{-1}; \frac{r+1}{c}, k - \frac{r-1}{c}\right)}{ck\mu G(y)B\left(\frac{1}{c} + 1, k - \frac{1}{c}\right)},$$

where B(u, v; y) is the upper incomplete beta function.

*Proof.* The Bonferroni curve by definition is given as

$$B_G(y) = \frac{L_G(y)}{G(y)}$$

Thus, substituting the Lorenz curve into the definition of the Bonferroni curve and CDF of the ER-BurrXII distribution completes the proof.  $\hfill \Box$ 

#### 3.7 Order statistics

The subject of order statistics deals with the features and applications of ordered random variables and of functions involving them. Let  $Y_{(1)}, Y_{(2)}, \ldots, Y(n)$  denote the order statistics of a random sample  $Y_1, Y_2, \ldots, Y_n$  from a continuous population with CDF  $G_Y(y)$  and PDF  $g_Y(y)$ , then the PDF of the  $p^{th}$  order statistics  $Y_p$  is given by,

$$g_{p:n} = U_{r:n} \left[ G(y) \right]^{p-1} \left[ 1 - G(y) \right]^{n-p} g(y)$$

for r = 1, 2, ..., n, where  $U_{r:n} = \frac{n!}{(p-1)!(n-p)!} = [B(p, n-p+1)]^{-1}$  is the beta function. The PDF of the  $p^{th}$  order ER-BurrXII random variable  $Y_{(p)}$  is given by

$$g_{p:n}(y) = U_{r:n} \left[ \frac{y_2 F_1\left(\frac{1}{c}, k, 1 + \frac{1}{c}; - \left(\frac{y}{a}\right)^c\right)}{kaB\left(\frac{1}{c} + 1, k - \frac{1}{c}\right)} \right]^{p-1} \left[ 1 - \frac{y_2 F_1\left(\frac{1}{c}, k, 1 + \frac{1}{c}; - \left(\frac{y}{a}\right)^c\right)}{kaB\left(\frac{1}{c} + 1, k - \frac{1}{c}\right)} \right]^{n-p} \\ \times \frac{\left(1 + \left(\frac{y}{a}\right)^c\right)^{-k}}{kaB\left(\frac{1}{c} + 1, k - \frac{1}{c}\right)}.$$

Therefore, the PDF of the largest order of the ER-BurrXII statistic  $Y_{n:p}$  is given by,

$$g_{n:p}(y) = n \left[ \frac{{}_{2}F_{1}\left(\frac{1}{c},k,1+\frac{1}{c};-\left(\frac{y}{a}\right)^{c}\right)}{kaB\left(\frac{1}{c}+1,k-\frac{1}{c}\right)} \right]^{n-1} \frac{\left(1+\left(\frac{y}{a}\right)^{c}\right)^{-k}}{kaB\left(\frac{1}{c}+1,k-\frac{1}{c}\right)}$$

and the PDF of the first order statistic of the ER-BurrXII  $Y_{1:p}$  is given by,

$$g_{1:p}(y) = n \left[ 1 - \frac{{}_{2}F_{1}\left(\frac{1}{c},k,1+\frac{1}{c};-\left(\frac{y}{a}\right)^{c}\right)}{kaB\left(\frac{1}{c}+1,k-\frac{1}{c}\right)} \right]^{n-1} \left[ 1 + \left(\frac{y}{a}\right)^{c} \right]^{-k} \left[ kaB\left(\frac{1}{c}+1,k-\frac{1}{c}\right) \right]^{-1}.$$

#### 3.8 Entropy

The entropy of a random variable describes the measure of variation of the uncertainty. A large value of entropy, indicates a greater uncertainty in the data.

**Proposition 3.8.** Given a random variable Y having the ER-BurrXII distribution, then the Rényi entropy of the ER-BurrXII distribution is given by,

$$I_R(\delta) = (1-\delta)^{-1} \log \left\{ \frac{aB\left(k\delta - \frac{1}{c}, \frac{1}{c}\right)}{c\left[ckaB\left(\frac{1}{c} + 1, k - \frac{1}{c}\right)\right]^{\delta}} \right\},\tag{3.9}$$

where  $\delta > 0$  and  $\delta \neq 0$ .

Proof. By definition,

$$I_R(\delta) = (1-\delta)^{-1} \log\left\{\int_0^\infty g(y)^\delta dy\right\},\tag{3.10}$$

where  $\delta > 0$  and  $\delta \neq 0$ . Substituting the density of the ER-BurrXII distribution into equation (3.10), we obtain

$$I_R(\delta) = (1-\delta)^{-1} \log \left\{ \int_0^\infty \left[ \frac{\left(1 + \left(\frac{y}{a}\right)^c\right)^{-k}}{ckaB\left(\frac{1}{c} + 1, k - \frac{1}{c}\right)} \right]^\delta dy \right\}.$$

Let

$$v(y) = \int_0^\infty \left[ \frac{\left(1 + \left(\frac{y}{a}\right)^c\right)^{-k}}{ckaB\left(\frac{1}{c} + 1, k - \frac{1}{c}\right)} \right]^\delta dy.$$

We simplify v(y) as follows,

$$v(y) = \frac{1}{\left[ckaB\left(\frac{1}{c}+1,k-\frac{1}{c}\right)\right]^{\delta}} \int_{0}^{\infty} \left(1+\left(\frac{y}{a}\right)^{c}\right)^{-k\delta} dy.$$

Let  $u = (1 + (\frac{y}{a})^c)^{-1}$ . As  $y \to 0, u \to 1$  and as  $y \to \infty, u \to 0$ . Also,  $y = a \left(\frac{1-u}{u}\right)^{1/b}$  and  $dy = -\frac{a^c}{cy^{c-1}u^2}du$ . Thus,

$$v(y) = \frac{1}{\left[ckaB\left(\frac{1}{c}+1,k-\frac{1}{c}\right)\right]^{\delta}} \frac{a}{c} \int_{0}^{1} (1-u)^{\frac{1}{c}-1} u^{k\delta-\frac{1}{c}-1} du$$
$$= \frac{1}{\left[ckaB\left(\frac{1}{c}+1,k-\frac{1}{c}\right)\right]^{\delta}} \left[\frac{a}{c} B\left(k\delta-\frac{1}{c},\frac{1}{c}\right)\right].$$

Hence,

$$I_R(\delta) = (1-\delta)^{-1} \log \left\{ \frac{aB\left(k\delta - \frac{1}{c}, \frac{1}{c}\right)}{c\left[ckaB\left(\frac{1}{c} + 1, k - \frac{1}{c}\right)\right]^{\delta}} \right\}$$

The proof is therefore complete.

Table 3 displays the Rnyi entropy values for various value of a, c and k. It can be observed that for various increasing parameter values, the values of the Rnyi entropy is decreases. Also, as the values of a and c increases with a constant k, the entropy values tends to negative. This indicates the flexibility of the amount of randomness of the ER-BurrXII distribution.

Table 3. Numerical values of the Rnyi entropy of the ER-BurrXII distribution at different values of a, c, and k

I	Paramete	r		Entr	opy	
a	c	k	0.1	1.2	2.0	3.0
1.0	20.5	2.1	0.5325	-6.4122	-2.1530	-1.6134
1.2	20.5	2.2	0.8098	-8.1351	-2.5550	-1.8681
1.4	20.5	2.4	1.0322	-10.0095	-3.0371	-2.1759
2.0	20.5	2.5	1.5936	-12.9399	-3.6733	-2.5253
2.1	20.5	2.6	1.6626	-13.6354	-3.8607	-2.6490
2.2	10.1	3.0	2.0611	-15.2429	-4.3943	-3.0585
2.5	10.7	3.0	2.2225	-16.1633	-4.5747	-3.1452
3.0	10.8	3.0	2.5081	-17.4782	-4.8371	-3.2759
3.1	10.9	3.0	2.5541	-17.7144	-4.8837	-3.2987
3.2	20.2	3.0	2.6050	-17.9435	-4.9295	-3.3216
0.4	30.1	4.1	-1.1231	-5.6427	-2.8006	-2.4517
0.4	30.4	4.2	-1.1242	-5.8523	-2.8710	-2.5046
0.4	30.5	4.3	-1.1244	-6.0573	-2.9400	-2.5567
0.4	30.6	4.5	-1.1241	-6.4533	-3.0736	-2.6574
0.4	30.7	4.6	-1.1241	-6.6447	-3.1381	-2.7059

# 4 Estimation of Parameters of ER-BurrXII Distribution

In this section, we derive the estimation of the parameter of the ER-BurrXII distribution using the method of maximum likelihood estimation.

### 4.1 Maximum likelihood estimation

Let  $Y_1, Y_2, Y_3, \ldots, Y_n$  be random sample of sample size n from the ER-BurrXII distribution, then the likelihood function of the ER-BurrXII distribution is given by,

$$L(y; a, c, k) = \prod_{i=1}^{n} \frac{\left(1 + \left(\frac{y}{a}\right)^{c}\right)^{-k}}{kaB\left(\frac{1}{c} + 1, k - \frac{1}{c}\right)}$$
  
=  $\frac{1}{\left(kaB\left(\frac{1}{c} + 1, k - \frac{1}{c}\right)\right)^{n}} \prod_{i=1}^{n} \left(1 + \left(\frac{y_{i}}{a}\right)^{c}\right)^{-k}$ 

Using the fact that,

$$B(a,b) = \int_0^t t^{a-1} (1-t)^{b-1} dt = \frac{\Gamma(a)\Gamma(b)}{\Gamma(a+b)},$$

the likelihood function function of the ER-BurrXII can be rewritten as,

$$L(y; a, c, k) = \frac{(\Gamma(1+k))^n}{\left(ka\Gamma\left(\frac{1}{c}+1\right)\Gamma\left(k-\frac{1}{c}\right)\right)^n} \prod_{i=1}^n \left(1+\left(\frac{y_i}{a}\right)^c\right)^{-k}$$

The log likelihood function is

$$\ln\left(L(x;a,c,k)\right) = n\left(\ln\Gamma(1+k) - \ln\Gamma\left(\frac{1}{c}+1\right) - \ln\Gamma\left(k-\frac{1}{c}\right)\right) - n\ln k - n\ln a$$
  
$$-k\sum_{i=0}^{n}\ln\left(1 + \left(\frac{y_i}{a}\right)^c\right).$$
(4.1)

The maximum likelihood estimators of a, c and k are obtained by maximization of the log likelihood function defined by

$$\frac{\partial \ln L(y;a,c,k)}{\partial a} = -\frac{n}{a} - \sum_{i=0}^{n} \frac{kc \left(\frac{y_i}{a}\right)^c}{a \left(1 + \left(\frac{y_i}{a}\right)^c\right)} = 0$$
(4.2)

$$\frac{\partial \ln L(y;a,c,k)}{\partial c} = -n\left\{\Psi\left(\frac{1}{c}+1\right) + \Psi\left(k-\frac{1}{c}\right)\right\} - \sum_{i=0}^{n} \frac{k\left(\frac{y_i}{a}\right)^c \ln\left(\frac{y_i}{a}\right)}{a\left(\frac{y_i}{a}\right)^c + 1} = 0$$
(4.3)

$$\frac{\partial \ln L(y;a,c,k)}{\partial k} = -\frac{n}{k} + n\left\{\Psi\left(1+k\right) + \Psi\left(k-\frac{1}{c}\right)\right\} - k\sum_{i=0}^{n}\ln\left(1+\left(\frac{y_i}{a}\right)^c\right) = 0 \quad (4.4)$$

where  $\Psi(z) = \frac{d}{dz} \ln(\Gamma(z))$  is the digamma function. Equations (4.2), (4.3) and (4.4) does not have explicit solutions, hence numerical approximation will be employed in computing the estimates of parameters *a*, *c* and *k* respectively. Although these equations (4.2), (4.3) and (4.4) cannot be solved analytically, a numerical solution can be determined by using R computing packages. Iterative techniques such as Broyden-Fletcher-Goldfarb-Shannon type algorithms can be adopted to obtain the estimates. We employed the mle2 procedure in R programming language.

## 5 Simulation Study

In this section, the main goal of the simulation is to assess the performance of the maximum likelihood estimators for the parameters of the ER-BurrXII distribution. The experiment was performed with two set of parameter values (a, b, k) = (20.9, 1.5, 500) and (40, 10, 100). The simulation steps are;

- i. Specify the value of the parameters a, c, k and sample size n.
- ii. Generate random observations of size n = 10, 30, 60, 100, 150, 200, 300, 500 from the ER-BurrXII distribution using the quantile function.
- iii. Compute MLE of parameters a, c and k according to section (4.1).
- iv Replicate steps ii iii for N = 5,000 times.
- v. To examine the performance of the estimates, we calculated the averages bias (AB) and root mean square error (RMSE) using the formulas,

$$AB = \frac{1}{N} \sum_{i=0}^{N} \left( \hat{\theta}_{i} - \theta \right) \qquad RMSE = \sqrt{\frac{1}{N} \sum_{i=1}^{N} \left( \hat{\theta}_{i} - \theta \right)^{2}},$$

for  $\theta = a, c, k$ .

The ABs of the maximum likelihood estimators of parameter values (a, c, k) = (20.9, 1.5, 500) are displayed in Fig. 3. The ABs for parameter a and c are generally positive, except for parameter kwhich exhibits an initial AB values of negative. Although parameter c and k appear intermittent in nature, the AB for each parameter decrease to zero as n increases. The ABs appear largest and smallest for the parameter a and k respectively. The RMSEs of the maximum likelihood estimators of parameter values (a, c, k) = (20.9, 1.5, 500) are displayed in Fig. 4. Although the RMSEs appear volatile, the RMSE for each parameter decrease to zero as n becomes larger. The RMSEs appear largest for parameters a and k except for parameter c which displays lesser RMSEs.

Fig. 5 displays the ABs of the maximum likelihood estimators of parameter values (a, c, k) = (40, 10, 100). The ABs for parameter a and k are generally positive, except for parameter c which exhibits initial ABs values of negative. We observe that, the ABs of parameter a decreases faster compared to parameter c and k. Although parameter c appears intermittent in nature, the AB decrease to zero as n increases. The ABs appear largest for the parameter a. The RMSEs of the maximum likelihood estimators of parameter values (a, c, k) = (40, 10, 100) are displayed in Fig. 6. Although, the RMSE for parameters c and k appear sporadic in nature, we observe that the RMSE for all parameters decreases as n becomes larger. We also observe that the RMSE for parameter a decreases.

# 6 Applications

To illustrate the importance and potentiality of the proposed ER-BurrXII distribution, the remission and survival times of patients data is applied and compared with some other existing distributions namely, the Generalised Pareto [19], Cauchy [20], Exponential Pareto [21], Weibull Fréchet [22], Exponentiated Inverse Rayleigh [23], Weibull (2P) [24], Generalized Rayleigh [25], Burr XII (2P) [26] and Topp-Leon Burr XII (TP Leon Burr XII) [27] using goodness-of-fit statistics such as the Log Likelihood(L), Akaike information criterion(AIC), Consistent Akaike information criterion (CAIC), Bayesian information criterion (BIC) and HannanQuinn information criterion (HQIC). The R programming language through the mle2 package is used to derive the estimates of the models.



Fig. 3. AB for Estimators of the ER-BurrXII distribution



Fig. 4. RMSE for Estimators of the ER-BurrXII distribution



Fig. 5. AB for Estimators of the ER-BurrXII distribution



Fig. 6. RMSE for Estimators of the ER-BurrXII distribution

### 6.1 Remission times bladder cancer data

The first data set represents the remission times (in months) of a random sample of 128 bladder cancer patients reported in [28]. The data were previously studied by [29], [30], and [31]. Table 4

displays some descriptive statistics of the bladder cancer patients data. The average survival time is approximately 10 months, the minimum and maximum survival times were approximately 1 month and 39 months respectively. We observe that the data is right skewed with coefficient of skewness of 1.4728. The distribution of the dataset has coefficient of variation of 0.7327 which indicates that the distribution has a high level of dispersion around the mean. Table 5 lists the MLEs, standard error and Z-Statistics for the fitted distributions.

Table 4.	Desciptive stat	istics
----------	-----------------	--------

Minimum	Maximum	Median	Mean	Skewness	Kurtosis	Coefficient of variation
0.8000	38.500	8.100	9.877	1.4728	5.5403	0.7327

Table 5. MLEs of parameters, standard errors and Z-statistics for remission times of the gall bladder cancer patients data

Distribution	Parameters	Estimates	Standard Error	Z-Statistics
ER-BurrXII	â	10.3475	3.0825	3,3569
	ĉ	2.9035	1.4876	1.9517
	ĥ	1.0779	0.7575	1.4230
Generalized Pareto	ĉ	8.6840	1.0291	8.4386
	k	0.0716	0.0792	0.9048
Cauchy	ĉ	3.1964	0.3305	8.4005
	ĥ	5.4423	0.4518	12.0459
Exponential Pareto	ĉ	4.6574	0.6855	6.7947
	ĥ	1.0877	0.0858	12.6760
Weibull Fréchet	â	11 3549	2 5594	4.4487
Weibuli Freeke	ĉ	0.6521	0 1149	5.6748
	k	0.3928	0.0277	14.1635
	$\hat{d}$	231.1295	0.0677	344.7469
Exponential Inverse Rayleigh	ĉ	1.6071	0.1713	9 3819
and an an and an and an Bu	k	2.8988	0.1957	14.8124
Weibull (2-P)	ċ	0.6740	0.0596	11.3137
	k	9.3656	1.0083	9.2885
General Rayleigh	ĉ	2.4761	0.2649	9.3471
	ĥ	0.1378	0.0085	16.1548
Burr XII (2-P)	ĉ	2.3348	0.3541	6.5943
	$\hat{k}$	0.2337	0.3910	5.8488
TP Leon Burr XII	â	9.2514	4.7342	1.9542
	ĉ	0.9507	0.3148	3.0205
	ĥ	0.6537	0.1662	3.9307

Table 6 presents the log-likelihood and information criteria for the bladder cancer patients data. We observe that out of the nine models, the ER-BurrXII has the highest value of the L and lowest value of the AIC, CAIC, BIC and HQIC. Thus, we conclude that the ER-BurrXII distribution is quite flexible in the modeling of the proposed data.

	uata				
Distribution	L	AIC	CAIC	BIC	HQIC
ER-BurrXII	-410.7559	827.5118	827.7618	836.0679	16.4839
Generalized Pareto	-413.8329	831.6658	831.9158	837.3698	16.4988
Cauchy	-442.3938	888.7876	88 <mark>9.0376</mark>	894.4917	16.6318
Exponential Pareto	-426.3051	856.6102	889.0376	894.4917	16.6318
Weibull Fréchet	-422.3092	852.6185	852.8685	864.0266	16,5392
Exponential Inverse Rayleigh	-598.4301	1200.8600	1201.1100	1206.5640	17.2343
Weibull (2-P)	-402.9332	829.8673	829.1173	840.5713	16.4944
General Rayleigh	-484.8450	973.6901	97 <mark>3.9</mark> 401	979.3 <mark>9</mark> 41	16.8145
Burr XII (2-P)	-453.5166	911.0332	911.2832	916.7372	16.6813
TP Leon Burr XII	-424.7617	855.5293	855.7793	864.0845	16.5508

Table 6.	Comparison	criterion	of	remission	times	of	the	gall	bladder	cancer	patients	
				dat	-							

In Fig. 7, we show the estimated PDFs and estimated CDFs of all fitted distributions using the estimators obtained in Table 5. From Fig. 7, it is noticed that the ER-BurrXII distribution fits the remission times of the gall bladder cancer patients data better than the other nine models.

### 6.2 Acute myelogenous leukaemia data

The dataset gives the survival times, in weeks, of 33 patients suffering from acute myelogenous leukaemia. These data have been introduced by [32] and analysed by [33] and [34]. Table 7 displays some descriptive statistics of survival times of patients suffering from acute myelogenous leukaemia. The mean survival time is 40.8788 weeks, the minimum and maximum survival times were 1.0000 and 156.0000 weeks respectively. We observe that the survival times are right skewed with coefficient of skewness of 1.1646. The distribution of the dataset has coefficient of variation of 1.1425 which indicates that the distribution has a high level of dispersion around the mean.

 Table 7. Descriptive statistics of patients suffering from acute myelogenous leukaemia.

Minimum	Maximum	Median	Mean	Skewness	Kurtosis	Coefficient of variation
1.0000	156.0000	22.0000	40.8788	1.1646	3.1221	1.1425

Table 8 presents the parameter estimates and the corresponding standard errors and Z-statistic.

Table 9 brings the proposed model as well as the following statistics: AIC, BIC, CAIC, HQIC and log-likelihood to check how the distribution fits the data. The smaller the values of the AIC, BIC, CAIC and HQIC together with the highest value of log likelihood the better the model fit. We can observe, in Table 9, that the results involving the Exponentiated Pareto, Cauchy, Generalised Pareto, Weibull Fréchet, Exponentiated Inverse Rayleigh, Weibull (2P), General Rayleigh, Burr XII (2P) and Topp-Leon Burr XII produces high values for the AIC, CAIC, BIC and HQIC for the ER-BurrXII model. Also, the ER-BurrXII model has the highest log likelihood value compared to the other models.

Distribution	Parameter	Estimates	Standard Errors	Z-Statistics
ER-BurrXII	â	77.8058	84.2080	0.9240
	ê	0.7393	0.2374	3.1136
	ĥ	4.6952	2.7809	1.6884
Generalized Pareto	ĉ	26.1958	10.6080	2.4694
	k	0.4195	0.3733	1.1237
Cauchy	ĉ	16.5966	4.5489	3.6485
10000	k	13.6167	4.7800	2.8487
Exponentiated Pareto	â	4.3564	1.3003	3.3502
	ĥ	0.7199	0.1185	6.0765
Weibull Fréchet	â	2.8591	0.9067	3,1533
	2	0.4244	0.1451	2.9247
	k	0.5065	0.0976	5,1910
	â	148.9776	76.0732	1.9583
Exponential Inverse Rayleigh	ĉ	1.0251	0.1961	5.2278
	k	6.0503	0.8145	7.4282
Weibull (2P)	ê	0.5317	0.0926	5.7446
	ĥ	40.8011	9.7224	4.1966
General Rayleigh	ê	1.1669	0.2233	5.2257
	ĥ	0.0255	0.0034	7.6065
Burr XII (2P)	ê	12.9973	32.1562	0.4042
	k	0.0271	0.0671	0.4041
TP Leon Burr XII	â	37.8724	99.4409	0.3809
	â	1.6909	1.7733	0.9535
	k	0.3066	0.2552	1.2014

Table 8. MLEs of parameters, standard errors and Z-statistics for acute myelogenous leukaemia data

Thus, we can say that the ER-BurrXII distribution can be applied to explain the survival times of patients.

We can observe from Fig. 8 the ER-BurrXII is an excellent fit to the data distribution in relation to the adequacy of the data.



Fig. 7. The estimated PDFs (top panel) and the estimated CDFs (bottom panel) remission times of the gall bladder cancer patients data.



Fig. 8. The estimated PDFs (top panel) and the estimated CDFs (bottom panel) for acute myelogenous leukaemia data

Distribution	L	AIC	CAIC	BIC	HQIC
ER-BurrXII	-154.2055	314.4109	314,6609	318,9004	14.5366
Generalized Pareto	-226.3644	456.7288	456.9788	459.7218	15.2982
Cauchy	-172.8878	349.7756	368,1964	352,7686	14.76322
Exponentiated Pareto	-156.0465	316.0929	368.1964	352.7686	14.7632
Weibull Fréchet	-159.5132	327.0263	323,2911	333.0123	14.6036
Exponential Inverse Rayleigh	-204.927	413.8541	414.1041	416.8471	15.1006
Weibull (2P)	-156.2085	315,5101	315.8011	318.9921	14.6549
General Rayleigh	-194.3337	392.6674	392.9174	395.6604	14.9952
Burr XII (2P)	-162.1310	328.2621	328,5121	331.2551	14.6359
TP Leon Burr XII	-153.4793	316.2584	328.5121	320.7479	14.5272

Table 9. Comparison criterion for acute myelogenous leukaemia data

# 7 Conclusion

The three-parameter equilibrium renewal Burr XII distribution called the ER-BurrXII distribution is introduced and studied in detail. Its hazard rate function exhibits increasing, decreasing and upside-down bathtub shapes. Some mathematical properties of the proposed model are presented, including the ordinary and incomplete moments and generating functions, mean deviations, Beforroni and Lorenz curve, and order statistics. We estimate the model parameters using the maximum likelihood estimation approach. We illustrate the importance of the proposed distribution for modeling data and also prove that the ER-BurrXII distribution is quite competitive to other known Burr XII (2P), Generalized Pareto, Cauchy, Exponentiated Pareto, Weibull Fréchet, Exponential Inverse Rayleigh, Generalised Rayleigh, TP Leon Burr XII and Weibull (2P) distributions.

# **Competing Interests**

Authors have declared that no competing interests exist.

# References

- [1] Azzalini Adelchi. A class of distributions which includes the normal ones. Scandinavian Journal of Statistics. 1985;171-178.
- [2] Marshall, Albert W, Olkin, Ingram. A new method for adding a parameter to a family of distributions with application to the exponential and Weibull families. Biometrika. 1997;84(3):641-652.
- [3] Eugene Nicholas, Lee Carl, Famoye Felix. Beta-normal distribution and its applications. Communications in Statistics-Theory and Methods. 2002;31(4):497-512.

- [4] Alzaatreh Ayman, Lee Carl, Famoye Felix. A new method for generating families of continuous distributions. Metron. 2013;71(1):63-79.
- [5] Cooray Kahadawala, Ananda Malwane MA. Modeling actuarial data with a composite lognormal-Pareto model. 2005;5:321-334.
- [6] Paranaíba, Patrícia F, Ortega Edwin MM, Cordeiro Gauss M, Pescim, Rodrigo R. The beta Burr XII distribution with application to lifetime data. Computational Statistics & Data Analysis. 2011;55(2):1118-1136.
- [7] Gomes Antonio E, Da-Silva, Cibele Q, Cordeiro Gauss M. Two extended Burr models: Theory and practice. Communications in Statistics-Theory and Methods. 2015;44(8):17061734.
- [8] Yousof Haitham M, Ahsanullah Mohammad, Khalil Mohamed G. A new zero-truncated version of the Poisson Burr XII distribution: Characterizations and properties. Journal of Statistical Theory and Applications. 2019;18(1):1-11.
- [9] Al-Saiari, Arwa Y and Mousa, Salwa A and Baharith, Lamya A. Marshall-Olkin Extended Burr III Distribution. International Mathematical Forum. 2016;11(13):631642.
- [10] Elbiely Mona Mustafa, Yousof Haitham M. A new flexible Weibull Burr XII distribution. J. Stat. Appl. 2019;2:59-77.
- [11] Murthy DNP, Blischke Wallace R. Strategic warranty management: A life-cycle approach. IEEE Transactions on Engineering Management. 2000;47(1):40-54.
- [12] Vodă, Viorel Gh. New models in durability tool-testing: pseudo-Weibull distribution. Kybernetika. 1989;25(3):209-215.
- [13] Cox DR. Point processes and renewal theory: a brief survey. Electronic Systems Effectiveness and Life Cycle Costing. 1983;107112.
- [14] Voda Viorel Gh. The equilibrium renewal process as density generator. Mathematical Reports. 2008;10(3):289-296.
- [15] Okasha Mahmoud K, Matter Mariam Y. On the three-parameter Burr type XII distribution and its application to heavy tailed lifetime data. Journal: Journal of Advances in Mathematics. 2015;10(4):3429-3442.
- [16] Andrews, George E and Askey, Richard and Roy, Ranjan. Special functions. Cambridge University Press. 1999;71.
- [17] Bílková, Diana. Alternative tools of statistical analysis: L-moments and TL-moments of probability distributions. Pure Applied Math. J. 2014;3:14-25.
- [18] Alshkaki Rafid. A generalized modification of the Kumaraswamy distribution for modeling and analyzing real-life data. Statistics, Optimization & Information Computing. 2020;8(2):521-548.
- [19] Van Montfort MAJ, Witter JV. The generalized Pareto distribution applied to rainfall depths. Hydrological Sciences Journal. 1986;31(2):151-162.
- [20] Carrillo, Rafael E and Aysal, Tuncer C and Barner, Kenneth E. Generalized Cauchy distribution based robust estimation. 2008 IEEE International Conference on Acoustics, Speech and Signal Processing. 2008;3389-3392.
- [21] Al-Kadim, Kareema Abed and Boshi, Mohammad Abdalhussain. Exponential Pareto distribution. Mathematical Theory and Modeling. 2013;3(5):135146.
- [22] Afify, Ahmed Z and Yousof, Haitham M and Cordeiro, Gauss M and Ortega, Edwin MM and Nofal, Zohdy M. The Weibull Fréchet distribution and its applications. Journal of Applied Statistics. 2016;43(14):2608-2626.
- [23] Rao, Gadde Srinivasa, Mbwambo, Sauda. Exponentiated inverse Rayleigh distribution and an application to coating weights of iron sheets data. Journal of Probability and Statistics; 2019.

- [24] Hallinan Jr, Arthur J. A review of the Weibull distribution. Journal of Quality Technology. 1993;25(2):85-93.
- [25] Dey Sanku, Dey Tanujit, Kundu Debasis. Two-parameter Rayleigh distribution: different methods of estimation. American Journal of Mathematical and Management Sciences. 2014;33(1):55-74.
- [26] Zimmer, William J, Keats J Bert, Wang FK. The Burr XII distribution in reliability analysis. Journal of quality technology. 1998;30(4):386-394.
- [27] Reyad Hesham M, Othman Soha A. The Topp-Leone Burr-XII distribution: properties and applications. Journal of Advances in Mathematics and Computer Science. 2017;1-15.
- [28] Lee E T, Wang J. Statistical methods for survival data analysis. Wiley; 2003.
- [29] Lemonte, Artur J. A new extension of the Birnbaum–Saunders distribution. Brazilian Journal of Probability and Statistics. 2013;27(2):133-149.
- [30] Zea Luz M, Silva Rodrigo B, Bourguignon Marcelo, Santos Andrea M, Cordeiro Gauss M. The beta exponentiated Pareto distribution with application to bladder cancer susceptibility. International Journal of Statistics and Probability. 2012;1(2):8.
- [31] Lemonte Artur J, Cordeiro Gauss M. An extended Lomax distribution. Statistics. 2013;47(4):800-816.
- [32] Feigl Polly, Zelen Marvin. Estimation of exponential survival probabilities with concomitant information. Biometrics. 1965;826-838.
- [33] Mead Mohamed E, Afify Ahmed Z, Hamedani GG, Ghosh Indranil. The beta exponential Fréchet distribution with applications. Austrian Journal of Statistics. 2017;46(1):41-63.
- [34] Mustafa, Abdelfattah and El-Desouky, Beih S and AL-Garash, Shamsan. Weibull generalized exponential distribution. arXiv preprint arXiv:1606.07378; 2016.

© 2021 Anafo et al.; This is an Open Access article distributed under the terms of the Creative Commons Attribution License (http://creativecommons.org/licenses/by/4.0), which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

#### Peer-review history:

The peer review history for this paper can be accessed here (Please copy paste the total link in your browser address bar)

http://www.sdiarticle4.com/review-history/75377